
F(x,y)=6(x3+y2x)=6x3+6y2x

8F
—  = 18x2 + 6 y 2 

82F
—  _ 36x -  ay 

8F
t-  = 12xy 5y

52F

-8 2F

Txy ~ 8r8
=  -1 2  y

x”y

Pnn 2 T ^ y +  (JyTly

Pns iPy ®x) ^-xny ~F ^xy(V-x l̂y )

AB:
A(5,0) B(5,5)

CD:
C(0,5) D(0,0)

nx =  1
riy =  O
Pnn ~  ®x̂ -x ~ 12x

71* =  —1
ny = O
Pnn =  =  1 2 *

BC:
B(5,5) C(0,5)

DA:
D(0,0) A(5,0)

=  O
ny =  1
Pnn 3ÓX

%  =  O 
ny =  - 1
Pnn Oy 36x
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. Wyznacz obciążenie tarczy

Pns =  ( ° y  -  <Jx ) n x n y  +  Tx y ( n l  ~  7lJ)

(AB)

Pnn =  °y =  2 4 0 x  " *  B=1440° 

Pns =  ■ Txy =  40y -4

(S C )

pnn =  40x ■ 0,5 +  80y ■ 0,5 +  240x ■ 0,5 =  140x -  40y -4 ^ 40 

pns =  (240x -  40x) ■ 0,5 =  100x -» £=£00

(AC)

pnn =  168x +  38,4y -4 Acż ^  

pns =  —96x +  11,2y - 4
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